

$$\left\{ \begin{array}{l} \text{cocycle } \underline{z}g \in K^{\mathbb{C}}: \quad \underline{z}gy = \underline{z}g\underline{z}gy \\ \underline{z}gR_w = \underline{w}^* \underline{z}R_w \underline{z}g \end{array} \right. \Rightarrow \text{cocycle } \underline{z}g = \underbrace{\underline{z}g\underline{z}R_z^{-1/2}}_{\text{unit part}} \in K$$

$$\underline{A} = \overbrace{AA^*A}^{-1/2}$$

$$\underline{z}g = \underline{z}g\underline{z}R_z^{-1/2} = \overbrace{\underline{z}g\underline{z}R_z^{-1/2}\underline{z}R_z^{-1/2}\underline{z}g^*}^{-1/2} \underline{z}g\underline{z}R_z^{-1/2} = \overbrace{\underline{z}g\underline{z}R_z^{-1}\underline{z}g^*}^{-1/2} \underline{z}g\underline{z}R_z^{-1/2}$$

$$\underline{z}gy = \underline{z}gy\underline{z}R_z^{-1/2} = \overbrace{\underline{z}gy\underline{z}R_z^{-1}\underline{z}gy}^{-1/2} \underline{z}gy\underline{z}R_z^{-1/2} = \overbrace{\underline{z}g\underline{z}gy\underline{z}R_z^{-1}\underline{z}g^*\underline{z}g^*}^{-1/2} \underline{z}g\underline{z}gy\underline{z}R_z^{-1/2}$$

$$\underline{z}g\underline{z}gy = \overbrace{\underline{z}g\underline{z}R_z^{-1}\underline{z}g^*}^{-1/2} \underline{z}g\underline{z}R_z^{-1/2} \overbrace{\underline{z}g\underline{z}gy\underline{z}R_z^{-1}\underline{z}g^*}^{-1/2} \underline{z}g\underline{z}R_z^{-1/2}$$